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Çàäà÷à 1. Äîêàæèòå ïåðâûé çàìå÷àòåëüíûé ïðåäåë:

lim
x→0

sinx

x
= 1.

Çàäà÷à 2. Íàéäèòå ïðåäåëû:

à) lim
x→0

tg x

x
;

á) lim
x→0

x

ln(1 + x)
;

â) lim
x→0

tg x− x

x− sinx
;

ã) lim
x→0

ln(e2 − x)− 2− 3x

ex − e−x
;

ä) lim
x→+∞

lnx√
x
;

å) lim
x→0+0

e1/x

lnx
;

¼) lim
x→0

1− cosx

x2
;

æ) lim
x→0

x− sinx

x3
;

ç) lim
x→0+0

tg x

xα
;

è) lim
x→−∞

sin 1
x

ln(1 + 2
x
)
;

é) lim
x→0

ln cos ax

ln cos bx
;

ê) lim
x→0

tg tg x

sin sinx
.

Çàäà÷à 3. Íàéäèòå ïðåäåëû:

à) lim
x→+∞

(
x tg 1

x

)
;

á) lim
x→0+0

xx;

â) lim
x→0

(ctg x)sinx;

ã) lim
x→1

xctg(x−1);

ä) lim
x→0

(
ctg x− 1

x

)
.
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